km 0+450

wykop - 0.882 m2
nasyp - 0.274 m2

p.p 143.00

RZEDNE PROJEKTOWANE

146.32

146.38

146.32

RZEDNE ISTNIEJACE

ODLEGLOSCI

-2.75

-2.00 |146.19|146.38
2.00 [146.17

0.00 |146.18|146.42
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km 0+530

wykop - 1.187 m2
nasyp - 0.213 m2

p.p 143.00

RZEDNE PROJEKTOWANE

146.53

146.59

146.53

RZEDNE ISTNIEJACE

ODLEGLOSCI

-2.75

-2.00 |146.39| 146.59
0.00 |146.50|146.63

2.00 |146.46
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km 0+700

wykop - 0.673 m2
nasyp - 0.315 m2

p.p 143.00
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RZEDNE PROJEKTOWANE

146.99

147.05

146.99

RZEDNE ISTNIEJACE

ODLEGLOSCI

-2.75

-2.00 |146.76|147.05
0.00 |146.77|147.09

2.00 |146.90
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km 0+520

wykop - 1.04 m2
nasyp - 0.212 m2

p.p 143.00

RZEDNE PROJEKTOWANE

146.49

146.55

146.49

RZEDNE ISTNIEJACE

ODLEGLOSCI

-2.75

-2.00 |146.33|146.55

0.00 |146.39(146.59

2.00 |146.44

2.75

km 0+630
wykop - 1.397 m2
nasyp - 0.098 m2

p.p 143.00

RZEDNE PROJEKTOWANE

146.97

147.03

146.97

RZEDNE ISTNIEJACE

ODLEGLOSCI

-2.75

-2.00 |146.97| 147.03

0.00 |146.97| 147.07

2.00 |146.90

2.75

km 0+790

wykop - 0.400 m2
nasyp - 0.508 m2

p.p 143.00

/

RZEDNE PROJEKTOWANE

146.86

146.86

RZEDNE ISTNIEJACE

ODLEGLOSCI

-2.75

-2.00 |146.48|146.92

0.00 1146.60 146.96

2.00 |146.73|146.92
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